
Take another look at the help guide to subtracting fraction from the Thursday before Half Term.  Remind yourself 

how to subtract fractions using bar models and part whole models. 
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For this last question you can see there are 9 squares in total in the bar 

model – this represents the denominator (bottom fraction number) You 

need to firstly colour in 7 to represent the numerator in the first fraction 

(top fraction number)     then cross off 4 to represent the numerator in the 

second fraction. 

Complete these calculations using the method you used for 1d on the previous page. 

Colour in the amount of the first numerator then cross out the amount of the second 

numerator. 

Complete the part whole models.  Use the bars to help you. Colour in the 
amount shown by the numerator in the top circle fraction then subtract (cross 
off) the amount shown by the numerator in the bottom circle fraction. 



 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

Day 2 – 2.3.21 

Do you remember when we used pizzas to represent fractions greater 

than 1 in the weeks before the half term break.  Here is a little 

reminder. 

Sam has two pizzas that he 

cuts into thirds. Like this 

As a fraction this would be 

2 wholes or  

Sam then invites a friend over and they both eat       each.  How much pizza 

would be left? 

The answer would be 1 whole 

pizza and                                    

 

These pizzas show the calculation 

As a bar model it would look like this 

Now it’s your turn.  Have a go at using the bar models to subtract. Remember 

when a whole bar is coloured in it = 1 whole 

As each bar has 3 parts, the denominator in the calculation 

is 3. Notice that when a whole bar is coloured in it 

represents 1 whole.  In this case 3 out of 3 thirds  
 



 

 

 

 

 

 

 

 

 

Like this  

 

 

If we wanted to find one quarter (        ) of an amount we would need to  

share the amount into 4 equal groups as the denominator is 4. 

Let’s use the apples again. 

     

     of 12                                                          = 3 as there are 3 apples 

                                                                       in one of the 4 parts. 

 

Now it’s your turn 

 

 

 

 

Day 3 – 3.3.21 

As a fraction, half is written as         the bottom number shows how 

many equal parts the amount        is being divided into whilst the 

top number shows how many of these parts we are looking at. 

Here are 12 apples.  If we wanted to 

divide them in half (     ) we would need 2 

equal groups as the denominator is 2 

As the numerator in half is 1.  We only 

need to look at how many apples are in 

one of the groups.  In this case 6 so             

half (      ) of 12 = 6 

Draw counters in the bar models to help you complete each number 

sentence.  The first one has been done for you.  Remember each part of 

the bar model must contain the same number of counters.   

This is how 

many counters 

in total 

This is how many counters in each part. 



 b) Find         of 44 =                          
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Place Value Counter resources                                                                          = 

Day 4 – 4.3.21 

Yesterday we looked at halves and quarters of amounts below 20.  Today 

and tomorrow the numbers we are using will be a little higher so we will be 

using place value counters with values of 10             and 1           ( The last 

page has some you can cut out and use to help you answer the questions for 

today and tomorrow) we will also be looking at non-unit fractions.  This 

means that for some questions the numerator will be greater than 1.  All this 

means is that instead of adding up the place value counters in one part of 

the bar model you add up the place value counters in more than one part. 

Here is an example. 

Kim has made sure that she has shared her total of   36   out equally so that 

each part of her bar model has the same place value counters (One 10 and 

two 1s = 12) Kim needs to find          of 36 which means she needs to add up 

2 parts of the bar model 

Each part of the bar model is 12 so 2 lots of 12 = 24.            Of 36 = 24   

Use Kim’s method to complete the following number sentences. Remember 

to collect place value counters to the value of 50 and share them out equally. 

 

To answer this question, collect the correct amount of 10s and 1s place 

value counters.  Then share them out equally across the 4 boxes.  Once 

you know how many counters are in each box you can work out how 

many are in 3 boxes to find        of 44 

c) Find        of 39 = 

• Collect place value counters to the value of 39.   

• Share them out equally between the three boxes below  

• Work out the value of  

d) Find         of 66 = 



 

 

 

 

 

 

 

 

  

 

 

 

  

 

To answer this question, and the one below, you will need to think carefully  

about which place value disks you use to make 20. Remember each box must  

have the same amount in.   

  

  

 

  

 

 

   

 Take a quick look back at the work you did yesterday to remind you 

how to find a fraction of an amount.  Remember you can use the 

counters and grid from yesterday to help you or use objects such as 

lego or pasta to represent the 10 and 1 place value counters. 

How much does on piece of the bar weigh?  Use this grid and the 

place value counters to help you work it out. 

Challenge – Can you match the calculation to the answer.  You 

will need to use a grid and place value counters to help you. 



Cut out the place value counters then use the enlarged grids below to help you answer the questions from day 4 and 5 above 

Once you have worked out the answers using the grids below, draw the place value counters onto your learning sheet for the day. 

 

                   

  

   

  

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 



 

 

 

 

  

 

 

 

  

 

 

 

  

    

 

 

 

 

  

 

 

 

 

 

 

Complete these calculations using the method you used for 1d on the previous page. 

Colour in the amount of the first numerator then cross out the amount of the second 

numerator. 

Complete the part whole models.  Use the bars to help you. Colour in the 
amount shown by the numerator in the top circle fraction then subtract (cross 
off) the amount shown by the numerator in the bottom circle fraction. 
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Day 2 – 2.3.21 

Do you remember when we used pizzas to represent fractions greater 

than 1 in the weeks before the half term break.  Here is a little 

reminder. 

Sam has two pizzas that he 

cuts into thirds. Like this 

As a fraction this would be 

2 wholes or  

Sam then invites a friend over and they both eat       each.  How much pizza 

would be left? 

The answer would be 1 whole 

pizza and                                    

 

These pizzas show the calculation 

As a bar model it would look like this 

Now it’s your turn.  Have a go at using the bar models to subtract. Remember 

when a whole bar is coloured in it = 1 whole 

As each bar has 3 parts, the denominator in the calculation 

is 3. Notice that when a whole bar is coloured in it 

represents 1 whole.  In this case 3 out of 3 thirds  
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Like this  

 

 

If we wanted to find one quarter (        ) of an amount we would need to  

share the amount into 4 equal groups as the denominator is 4. 

Let’s use the apples again. 

     

     of 12                                                          = 3 as there are 3 apples 

                                                                       in one of the 4 parts.  

 

Now it’s your turn 

 

  

 

 

Day 3 – 3.3.21 

As a fraction, half is written as         the bottom number shows how 

many equal parts the amount        is being divided into whilst the 

top number shows how many of these parts we are looking at. 

Here are 12 apples.  If we wanted to 

divide them in half (     ) we would need 2 

equal groups as the denominator is 2 

As the numerator in half is 1.  We only 

need to look at how many apples are in 

one of the groups.  In this case 6 so             

half (      ) of 12 = 6 

Draw counters in the bar models to help you complete each number 

sentence.  The first one has been done for you.  Remember each part of 

the bar model must contain the same number of counters.   

This is how 

many counters 

in total 

This is how many counters in each part. 

9 

8 

2 

4 



 b) Find         of 44 =                         
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Place Value Counter resources                                                                           

Day 4 – 4.3.21 

Yesterday we looked at halves and quarters of amounts below 20.  Today 

the numbers we are using will be a little higher so we will be using place 

value counters with values of 10             and 1           ( The next page has some 

you can cut out and use to help you answer todays questions) we will also be 

looking at non-unit fractions.  This means that for some questions the 

numerator will be greater than 1.  All this means is that instead of adding up 

the place value counters in one part of the bar model you add up the place 

value counters in more than one part. 

Here is an example. 

Kim has made sure that she has shared her total of   36   out equally so that 

each part of her bar model has the same place value counters (One 10 and 

two 1s = 12) Kim needs to find          of 36 which means she needs to add up 

2 parts of the bar model 

Each part of the bar model is 12 so 2 lots of 12 = 24.            Of 36 = 24   

Use Kim’s method to complete the following number sentences. Remember 

to collect place value counters to the value of 50 and share them out equally. 

 

To answer this question, collect the correct amount of 10s and 1s place 

value counters.  Then share them out equally across the 4 boxes.  Once 

you know how many counters are in each box you can work out how 

many are in 3 boxes to find        of 44 

c) Find        of 39 = 

• Collect place value counters to the value of 39.   

• Share them out equally between the three boxes below  

• Work out the value of  

d) Find         of 66 = 

20 

33 

26 

44 
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30 


